3 =2 1T 0 T 2 3
TP n (PCA to beamline)

o
[N

g
[
o

< d cot(8) >

©
D

0.05]

2 3

v ulqu:ulcu :ﬁe pItOa60 EEtpsioat
tOlOOO etal]

M
M~ ng{le ste| t1t0 1000 etal 6102 0
M as st

pixefC p ate_step2 11101800 etalp6to2p0

< 0dy > (kM)

Ratio
S
T

-3 -2 -1 0 1 2 3

> 5 T T
B o : X
A AF bt proseeredecees e
o qf : :
& 3t oeeearadennes SRR
o o . -
o 2:— ----------------------- . ------------- 1 , .......
v E : :
| ERE T R beveeede 1A
0;— ----------------------- E- ------------- E,l" -------
—12— ------ Pereennn LR oo feees T
_22— ----------------------- ------------- et
—3;— ------ e H b I s
| ST T IR o
cF. | | e | |
o ~5f :
- | SRR N SR N TR
@ [ :
| EERTETER PRTPRRE RRRRRS TR 1 TP
ok :
-3 -2 -1 0 1 2 3

TP n (PCA to beamline)

10

<dd,>(um)

o N B O

Ratio
S

2 3

TP n (PCA to beamline)



	Contents
	Page 1


